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SN 5e)Ed
HE: HEOY Y HES I (sl Lt/ 5 - &)
tel ASEd ¢EE JlsEs (el &)
SN EE - ER(EN) - NRAY - BaS 01 &t o8 e HlRE2
0 & 24
OzEA AEI|= BESTOIES AMESH(4HL) 75,000
ORIXNEE RPHlEe=s8 ASAY 9,000
OLINE OIUX 2dsY ASAY 28,800
O0I2E BIATHHIAL AASE L= ALY 24,000
ASHF SEEH JI=sEs 681,640 879,814 N 198,174
= 100,000
= 380,000
& 201,640
Ol SEAMS MADI=AIY(21) 100,000 175,000 A75,000
= 100,000
403 XX HSA=201H 100,000 175,000 275,000
= 100,000
01 MXEMAH=2EX 100,000 175,000 AT75,000
OUHEFAZS YA AFFEH HACCPEHZAIEH 100,000
= 100,000
e EstAtY &4t 380,000 521,000 A 141,000
2 380,000
403 XXM SA=01H 380,000 521,000 A 141,000
= 380,000
01 AXESMA2E = 380,000 521,000 A 141,000
OXNSEL3AMY 380,000
= 380,000
AEBR2 24 2204 HE(UH) 201,640 183,814 17,826
201 LetEI| 5,000 8,254 A3,254
01 AtR22/Hl 5,000 8,254 AN3,254
OMII=E2= n=EWUM S M 2,400
OFMSH EIIs HAYX 1,800
O=AEX EOtsl WM Z 800
202 O4Hl 7,640 11,760 24,120
01 =LA bl 7,640 11,760 24,120
OJWEZS AIHAIY SEXIJI=XE 2,000
OL==0 HosLM JI=X& 3,000
ollAS Hefa=s SERIIsXE 2,640
403 X HMSAH=01H 189,000 163,800 25,200
01 XIXSGHSEX 189,000 163,800 25,200
OHigh Brand sA&tS A AJHER 4 30,000
OXNA MAS s U= SHAE 120,000
OENFHOl DHX E43t 43 AlE 21,000
OSELA AFS HIXTE AY 18,000
9= #FIE x| A8 3,321,59% 1,319,667 2,001,929
= 496,840
= 2,467,000




M sgII=H
ME: AN 9 MES JSNH(SAHLAN/5Y - 5E)
o9l g5 ®EJIE 20| ABs (Ere): & 2
SN C(BH) - NRAY - HES 0l &k o Soe HlmE2
& 357,756
e =ssMI =X (=210) 364,180 314,308 49,872
= 351,840
& 12,340
201 Let243| 10,680 9,058 1,622
2 5,340
= 5,340
01 AtE222|Hl 10,680 9,058 1,622
odgdizs AN & 2 10,680
= 5,340
& 5,340
202 O4H| 12,000 14,200 A2,200
= 6,000
& 6,000
01 =LA b 12,000 10,000 2,000
OZ=4dE ¢H JI=Xd 6,000
= 3,000
& 3,000
OEYHE X Jl=XN& 6,000
= 3,000
= 3,000
308 XX HHSO0IA 339,500 291,050 48,450
= 339,500
01 AXSMBAEXZ 339,500 291,050 48,450
ONsI I =&H Y (5Ar) 339,500
= 339,500
405 Kot S| 2,000 0 2,000
= 1,000
L= 1,000
01 XL SEZFHSHI 2,000 0 2,000
OOl KIS A B0/ (10H) 2,000
= 1,000
& 1,000
Y s S48 =X (=12) 2,387,000 637,000 1,750,000
= 2,387,000
403 RXISHSKHZ0IH 2,387,000 637,000 1,750,000
Z 2,387,000
01 MXESHMA=E X 2,387,000 637,000 1,750,000
OXNH= SHSA(100H4) 2,387,000
= 2,387,000
SE NEJg 24(=51) 160,000 0 160,000
& 80,000
& 80,000
405 XH&HFE SHI 160,000 0 160,000
= 80,000
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S Tt
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sgI|=¥
HAEOH L HES JIsNYd (sEHLra/ =Y
ds ¥l XD 488

S EH . S(BH) - NEAY - B2 0fl Ak o gggf; HDE2

= 80,000

01 XA 2 EF SH| 160,000 0 160,000
OY=sd AHLEE =3 (1Y) 80,000
Z 40,000
= 40,000
OEY - A2 . -YollE 0ls4 S2&&d|(14] 80,000
2 40,000
= 40,000

sgE20HE kM8 (21) 149,000 168,500 A 19,500
= 145,000
& 4,000

201 Bt2ad| 5,000 0 5,000
= 2,500
& 2,500

01 AIR22|H] 5,000 0 5,000
OFEOIZ HSYH M2UR 5,000
= 2,500
o= 2,500

301 et A= 3,000 3,000 0
= 1,500
= 1,500

10 HAIAHIEAZ 3,000 3,000 0
O8sY =0 dRed=sYd 3,000
= 1,500
& 1,500

308 AtXIEHHMI SOl A 11,000 20,500 A9,500
= 11,000

01 AXEMIMNEEZ 11,000 20,500 A9,500
OE=2Y S0l HARDAKH(18AIZ) 11,000
= 11,000

403 MXISHHSA201H 130,000 145,000 A 15,000
= 130,000

01 XXISH =22 xR 130,000 145,000 A 15,000
OFSE 22 N2 SN 130,000
= 130,000

Aofer AMDlxs XD A=3HAA) 150,616 64,950 85,666

201 dBt23d| 6,000 0 6,000

01 AIR22|H] 6,000 0 6,000
otlsd B8 g8 2l & M 3,000
OAl D= AIBAY SXJI=AE =0 3,000

202 (4 i 3,616 0 3,616

01 2| 3,616 0 3,616
OAl D= AIEANY SXIDJ|I=Xd 1,616
OWstId=sAld SEXIIsXE 2,000
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FA sg@II=2

E: SENANNSE(SYHY /52 - 55)

ool sEEABEX (ool @
S BB SR (B) - NEAY - BAS 0f & o Soe DB

OsZMEI =AY 90,000
= 90,000

403 XXX SA=01H 270,000 0 270,000
= 270,000

01 TUXIEHMAZE = 270,000 0 270,000
OsdE IIEJIeAE 270,000
= 270,000

sEALE0EsE(=2D) 675,000 625,000 50,000
= 675,000

308 AXISHSOIA 675,000 625,000 50,000
& 675,000

01 UHXSHHBLE4EES 675,000 625,000 50,000
OsEALEF0tS (270 A) 675,000
= 675,000

sAAMHME (ZD) 190,000 190,000 0
= 185,000
< 5,000

201 LEt=EH| 6,000 7,000 A 1,000
= 3,000
& 3,000

01 AtR2teld] 6,000 7,000 A 1,000
Os&Y HTAAE 2 6,000
= 3,000
= 3,000

202 O 3,000 2,000 1,000
= 1,500
S 1,500

01 =LHOYI 3,000 2,000 1,000
Os&Y HEAIAE =& 3,000
= 1,500
= 1,500

301 Let2a= 1,000 1,000 0
= 500
S 500

10 BAIAHIE2 oS 1,000 1,000 0
Os=Y GHMAIYE =X 1,000
= 500
< 500

308 AXIEHSOIA 180,000 180,000 0
= 180,000

01 MHXSHHBLEdE2ES 180,000 180,000 0
O=sHY HEDAAIE (5014) 180,000
= 180,000

SHYSZNLBHOIEHI XA (Z1) 100,000 100,000 0




SRRl

=R "I}"U}xlx*"(;%éH%#&/%% 5E)
ool sEEABEX (ool @
SN C(BH) - NRAY - HES 0l &k o Soe HlmE2
& 100,000
308 MHXIHHMSOIA 100,000 100,000 0
= 100,000
01 MXESHMBLEEXS 100,000 100,000 0
OsZY HAMH BOIEY XA (4THL) 100,000
= 100,000
s=EME 24535 X2 (KA 52,388 12,588 39,800
202 (4 H| 7,588 7,588 0
01 =LHOA b 7,588 7,588 0
OsEdg 4dst =4 7,588
308 AUXIHMSOIA 44,800 0 44,800
01 IXNSMBIMNEES 44,800 0 44,800
O=&L?0 g4 T2 29 6,000
O=gol AL2ela 29 (141004) 38,800
SENEE A5 795,900 1,412,430 A616,530
= 640,000
= 155,900
AA2ezll=2s(=0) 640,000 610,000 30,000
= 640,000
308 MXIHHMSOIA 490,000 510,000 A20,000
= 490,000
01 AXSMBAEEXS 490,000 510,000 A20,000
O=Z=HMgags 8453t 330,000
2 330,000
OsZE0H&8ASSE JI=X& 160,000
2 160,000
403 XX S HS =0l H 150,000 100,000 50,000
= 150,000
01 AXESHMA=E =R 150,000 100,000 50,000
SEHLASS JI=X&E 150,000
= 150,000
S& L2 2 (XA 155,900 177,230 221,330
202 O4dl 3,500 2,000 1,500
01 =LHA b 3,500 2,000 1,500
ASE Y AIEFA 3,500
403 XXISHHSA=01H 152,400 150,000 2,400
01 MXESHMA=2E X 152,400 150,000 2,400
ORYURQZNENS SH(2MHLA) 60,000
O2d HEAE 25t SH (ML) 60,000
O=s=XdSHIDt0tE g43 K& 32,400
s 167,700 145,730 21,970




2N S|
By sE2
ol

=
SENINALE(SEHL S/ 5Y - 5&)
Col sEoIESANY EEEED
_ _ MNuE o
SA-EFH - SA(SAH) - MREAY - BES Off &F OH Ofl At ot Hws2
= 50,000
= 5,000
= 112,700
SYUES0IZYN (2D 50,000 50,000 0
= 50,000
308 XHXIEHHI SO 50,000 50,000 0
= 50,000
01 HASHZAEES 50,000 50,000 0
OME=IZDS 50,000
= 50,000
MENES K (RA) 92,700 95,730 £3,030
201 Lere gl 20,000 21,000 A 1,000
03 A2 H 20,000 21,000 A 1,000
OMEX MY AU 20,000
206 TH2HI 1,000 2,000 A 1,000
01 MEH 1,000 2,000 A 1,000
OMEXEAY ANBES MW 1,000
301 YptEAZ 5,000 7,000 A2,000
10 BAMAHIZ &S 5,000 7,000 A2,000
OMEXBAY MNUHS EE24 5,000
307 QI2+0IA 12,600 15,000 12,400
02 SIAPATE 12,600 15,000 A2,400
OMEINES BH3 X 12,600
308 XHXIEHHI SO 54,100 50,730 3,370
01 HXSHBALES 54,100 50,730 3,370
OMEINH3 BA3 X2 27,000
OMEINEE A2 (5,4209) 27,100
M85 J2DE YSHXHA) 25,000 0 25,000
== 5,000
= 20,000
201 Lere gl 21,000 0 21,000
= 4,000
= 17,000
01 At el 14,000 0 14,000
OsENE HANEK DS 10,000
OMEIISIH L SANLWS 2% 4,000
= 4,000
03 A2 7,000 0 7,000
OsENE MM WK 7,000
301 LetEaa 4,000 0 4,000
£ 1,000
= 3,000




SN

sl ==&
M SERANNNE (SYHY L0 /5 - 5E)
el sEols (el:@g
SN EE - ER(EN) - NRAY - BaS 01 &t o8 e HlRE2

10 BALAHIEA S 4,000 0 4,000

Os&ENE AYXNER WS 3,000

OdEI=1tH & sEgus 24 1,000

= 1,000
HY2HZH (=sLII==)(IIEH/IIE 6,893,701 6,980,061 86,360

=2 8,660

& 6,885,041
QI 2| 6,718,806 6,802,716 83,910

2 8,660

= 6,710,146
S£& 224d XA 6,214,911 6,375,549 A 160,638
101 el 4] 5,881,011 6,036,909 A 155,898
01 2= 5,881,011 6,036,909 A 155,898

OJl=s 3,741,813

o= 3,459,064

-AZH 66,083

=] 5,506,840 1 »12& 66,083

- EHA 2,797,800

6= 2,512, 1002 x2H «12& 60,291

A= 1,545,2003 x2H «12& 37,085

= 1,627, 4003 x1E 123 19,529

- 3,534,300«8H 123 339,293

- A 2,162,000 x64H 123 1,660,416

- Nz 3,186,700+6F «12& 229,443

- KIS AL 2,091,400+ 18H «12& 451,743

ACE 595,181

= 2,164,500& «5H 128 129,870

8= 1,855,600 x15F «12& 334,008

- 98 1,289,900& x5 123 77,39

102 1,123, 100& x4« 123 53,909

o8z 282,749

-d2sE 3,392,981,000%1/12 282,749

o=¢ 858,656

Oi&s=d 100,800

—bi < Xt 40,0003 «110Z 123 52,800

-22I=E 20,000 200 «12& 48,000

OXtdsHI X+ 40,403

-=8u 51,9903 x25H »43] 5,199

-1sstu 419,090+21Z *43| 35,204

O&Z2=Et= 136,080

-253 01 & 130,000 & «25F « 128 39,000

-20= 0l &k~25 018 110,000 «28F «12& 36,960




SN
X XH .
S Tt

oLk

=
B (sLII=3)(IIEHIIE
o

CEE S (BH) - MEAY - B2 Abod e
-15E 0] &~20E 0| 8¢ 80,000& »29Y x12& 27,840
-108 0l & ~15E 0| &8¢ 60,0003 39 x12& 28,080
-5 0] &~5E 0| BF 50,0003 +x7E +12& 4,200

O ==t = 49,800
43 50,0003 83 x12& 49,800
Olie=+% 168,798,000 *4.8%* 122 97,228
OREsRaxE 50,0003 x4 H«12& 2,400
OE==gR¢ 130,556
DlgYRay 20, 160
PN, 60,0002 x6H «12& 4,320
SN 50,0003 »18E 12 10,800
) R= 30,000& *14H «12& 5,040
B R = 80,000& 72 «12& 69, 120
-AsXH28L =2 40,0002 +x9H 128 4,320
-orM e =g 10,0003 7« 123 840
“ZelgRsy 43,993,000 *7Z 9% 27,716
B R R i Ry 70,0003 *10E 12 8,400
OEx=XZ2ExE 27,840
-2 Al 50,0002 x16H «12& 9,600
-=Xl 40,0003 x6Z +12& 2,880
=N 30,000 x5 128 15,360
OANZI2Z2E
7, 47431228 25N 2t 12& 273,549
OZAZ A 130,000 «86H « 128 134,160
Ounsg2=Hl 134,760
Ol=-3s4% 200,000 3 12 7,200
Ode~ba44 140,0002 *10H x12& 16,800
Oe=~7=244 130,000& *59F x 123 92,040
Oog=~10=2a e 120,000& *13F x 123 18,720
OZE =t 3,392,981,000& *1/12%120% 339,299
O It A X2 Hl 3,392,981,000& *16.7% 566,628
O I 2 &I 105,695
Od=H 66,082,000 *1/12%1/30+ 11 2,020
Oz =H 3,392,981,000& *1/12%1/30* 11 103,675
YR xTY| 48,840
J22IH 2= 22,000
o 10,000,000 =1 10,000
o=z 6,000, 000& x2Y 12,000
2o R =8| 3,440
O&EHRAIAS 40,000 86 3,440
SASYYLF | 23,400
©15210| 5t 250,000 x50t x 122 15,000




SN Se|&d
M HHRIAZH (sLII=2)(IIEHIIE
chel: Q2 H| (sl &
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
©30210l ot 350,000& 210t x12& 8,400
204 MR AH| 285,060 289,800 A4 T740
01 Mg PR 51,600 51,600 0
o3& 650,000 x1H =122 7,800
o=z 600,000 x2ZE 12 14,400
oOME 350,000 x7E «12& 29,400
02 Mg et 187,860 191,400 A 3,540
©2= 650,000 x1H «12& 7,800
O4= 400,000& x9¥ «x12& 43,200
O5= 250,000 x4 H «12& 12,000
O6= 155,000 *52H » 123 96,720
O7= 140,000& »7H «12& 11,760
©8-93 105,000& *13F x12& 16,380
03 EZYFHESHI 45,600 46,800 A 1,200
ouergsl 50,0003 +76Z 12 45,600
NESZIAPZAS 103,885 94,853 9,032
101 Q14| 103,885 94,853 9,032
03 RIAHA2Z2NHE = 103,885 94,853 9,032
OMTE 22 18,636
OJl=2s 38,500 1% 253 9,741
O&0= 38,5003 x1H 21«44 & 3,234
OssSsgsd 38,5003 x1H 52 2,002
OAzZte22xg 72193 *x1Z+10A 2++8IH & 578
OdXtrs=g 38,5003 x1H x15¢ 578
OZFESIth| 300,000 »1H »23| 600
O=4tl 50,0003 x1H~ 1201 & 600
OHBREL3(UUBER) 14,976,500 *8.7% 1,303
otttz 85,249
OJlgs 35,0003 x5 % 253 44,275
O&N3 35,0003 x6H 212 x43] 14,700
ORrRE5gsg 35,0003 x5H 52 9,100
OAlRI2IZ2+Y  6,5633+5Hx10AI 2++8IH & 2,626
Ogxtsrexg 35,0003 x5F 15 2,625
OZESIth| 300, 000& x5 x23] 3,000
OF=F:] 50,000 x5H 1204 & 3,000
OYHI=RE= 68,075,000& *8.7% 5,923
20 ANEHZAY 204,488 158,086 46,402
101 Q14| 204,488 158,086 46,402
03 RIAHA2ZZHE > 204,488 158,086 46,402
OMIHE 22l 18,780




SN Se|&d
M HZ2IZH(sII=H)(IIEHIIE
el e 2 (98
S BB SR (B) - NEAY - BAS 0f & o Soe DB
OJl2s 38,5003 128 »253& 9,741
Odd= 38,5002 x 18 x21& x43) 3,234
O = 38,5003 x 1 x52 2,002
OAlZeZR2xE 7,2193 *10A1 21004 722
OgxRssIt=E 38,5003« 12 »156& 578
OgE SOt 300,000& x1& 22| 600
Os4atl 50,000 x 1 *1200 & 600
OHIREs(4UEER) 1,302,956& 1,303
ot=LR3 185,708
oJlz2s 35,0003 *11H »253 97,405
oad= 35,000 # 118212 %43 32,340
OrRs5g=H 35,0003 » 11 »52& 20,020
OAlZe 224
6,563 *6H *10AI 2t+ 1004 2 3,938
OHxrsFII=E 35,0002 x 118 15 5,775
OgEFotl 300,000& x11&E %22 6,600
@F=xas] 50,000 * 111204 & 6,600
OEZIRE3UUEER) 13,029,555 13,030
SIS AMEHAAE 178,202 158,086 20,116
101 el H] 178,202 158,086 20,116
03 RIAHAZ=2ANE S 178,202 158,086 20,116
oM &S 75,116
Oll2s 38,5003 x4 & 2532 38,962
odou= 38,5003 x4 x212 %43 12,936
OrEsd=d 38,5003 x4 H 52 8,008
OAlZe 22+
7,2193 4B «10Al 2t 1000 2 2,888
OdxrsFIi=< 38,500 x4H x15& 2,310
OE &= 0td| 300,000& 4L 22| 2,400
O=4ltl 50,000 x4 =120 & 2,400
ORI (4UEEZ) 59,906,000 +8.7% 5,212
oOth=:2 ¥ 103,086
OJl2=s 35,0003 x6& 253 53,130
odd= 35,0002 x6& x21& x4 3 17,640
Orssd=d 35,0003 x6H 52 10,920
OAlZe 22+
6,563 «6E x10Al 2t+ 1000 = 3,938
OdxtrsFIt=d 35,000 x6H 15 3,150
OE &= 0ty| 300,000 »6E *23| 3,600
O=4ltl 50,0003 «6EH * 1204 & 3,600
OYARPLYI4UHEEZ) 81,690,000 +8.7% 7,108
s&E2 YHolls oz datHel(=21) 17,320 16,142 1,178




S 5HIEH
Mo WHS AR (SYIIEH)(OIEH/IIE)
ool olee gyl (Etel: &8
_ _ HE T
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K '@,‘;OH Hlw &2
= 8,660
= 8,660
101 Q12| 17,320 16,142 1,178
= 8,660
= 8,660
03 PIIAHA2ERE S 17,320 16, 142 1,178
CEEEES 17,320
OpIES=] 35,0009 +12 %2532 8,855
= 4,428
= 4,427
Oa0i2 35,0002 +19+212 #43| 2,940
= 1,470
= 1,470
ORZEL+Y 35,0002 *12 x50 1,820
= 910
= 910
OAlZte2R2Y
6,563 +1Z*10AI 2+ 100 657
= 328
= 329
ORI EIN4Y 35,0002 %12 152 525
= 262
= 263
OYEEIH| 300, 0008 +12 %23 600
= 300
= 300
OZalt| 50,0002 * 1241204 & 600
= 300
= 300
SEF-LI=F 1,323
= 662
= 661
=3l 174,895 177,345 A2,450
SN2 JIE2BH (2D 22,491 23,891 A1,400
201 Lete gyl 15,771 17,171 A 1,400
01 At 2l 12,771 13,900 A1,129
oA AR 12,771
02 22| 3,000 3,271 A271
o=N2Y BZ2H| 3,000
202 01H 6,720 6,720 0
01 2UioiH| 6,720 6,720 0
SN2 20Tl 6,720
SA2Y JI2BU(HSZID) 24,602 28,102 3,500
201 ety 14,942 14,942 0
01 At el 14,942 14,942 0




K- E3 .S (3H) - MBAY - B Ao gggf; HRS2
ORNSY AR 224 14,942
202 04| 8,160 8,160 0
01 2| 8,160 8,160 0
ORANMESYE =LA b 8,160
405 KHAHFE S| 1,500 5,000 A 3,500
01 At =S EF SHI 1,500 5,000 A 3,500
O2| XH(109H) 1,500
A2 J|2HH (202D 21,600 20,550 1,050
201 Et24d| 13,350 13,350 0
01 AtS22telyl 13,350 13,350 0
ORNSY AR 224 13,350
202 04| 7,200 7,200 0
01 2 7,200 7,200 0
OFN2ZE =AY 7,200
405 KHAFSH| 1,050 0 1,050
01 MY =S EFH SHI 1,050 0 1,050
O XH(7IH) 1,050
Ned Jledu(s#EsgaH32) 12,894 14,694 A 1,800
201 Et24| 8,574 8,574 0
01 AtS22telyl 8,574 8,574 0
ORNSY AR 224l 8,574
202 04| 4,320 4,320 0
01 2Wobl 4,320 4,320 0
MY a2 4,320
ANed J|23H(XKI1& D) 18,722 17,722 1,000
201 LBt29H| 10,962 10,962 0
01 AP Zeltl 10,962 10,662 300
ORAMNESYE ARl 10,962
202 (4 5,760 5,760 0
01 2| 5,760 5,760 0
OFAN2YE =2U0Hl 5,760
405 KHAHF S 2,000 1,000 1,000
01 At =EF SHI 2,000 1,000 1,000
OTV(1), ZHak(5) 2,000
Aed J|123H|(DlsE=1) 15,144 13,844 1,300
201 LBt29H| 8,574 8,574 0
01 At 2eltl 8,574 8,574 0
ORNESYE ARl 8,574




SN
X XH .
S Tt

oLk

dH(s201=&)(JIEH/IIE)

Ho-Za . e2i(3) - HEMY - BaS Lo Soe RS2
202 O 4,320 4,320 0
01 =AY 4,320 4,320 0
fA2E UL 4,320
405 KH&HESHI 2,250 950 1,300
01 HARESF=H 2,250 950 1,300
©21TH(7),3HH1 4 (6) 2,250
N2g Jl23H (48X 11,242 10,342 900
201 LEt=EH| 6,982 6,982 0
01 AtR2teld] 6,982 6,982 0
ORAM2Z Jl=ZHl 6,982
202 O 3,360 3,360 0
01 =AY 3,360 3,360 0
FA2E UL 3,360
405 KH&HESHI 900 0 900
01 MARESF=H 900 0 900
OabIL(2), d&1(1) 900
YR 2 48,200 48,200 0
201 et 48,200 48,200 0
01 AtR2teld] 48,200 48,200 0
CEEEIRSE 48,200




